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g H H 4 g 7|k u@ 4H11H | 5H16H |6H11H | 7TH11H | 8H1H | 9H10H |10A10H |11H14H |12H10H | 1H16H | 2H13H | 3H11H
1] i el Lt | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 | B BISH e a3 | Bts | RSN RIS [RIESAT [ RIHSh P | BIHSH P | Bbsn 3 | REEn+ [ Rilshd [ Risn [ riish
3 RIY Ak OZE O G Y me/l | 0.003 — — 0.0003 i — — 0.0003 A i — — 0.0003 AT — — 0.0003 A7
4Pk 8 & O £ o b & | mg/L | 0.0005 — — 0.00005 it — — — — — — — — —
5l v v k2 ot a& | meL |0.01 — — 0.001 A — — 0.001 A3 — — 0.001 A — — 0.001 A
6l85h & O = o fb & #| me/L | 0.01 — — 0.001 A7 — — 0.001 A3 — — 0.001 i — — 0.001 A
Tl F K O 2 o b & ¥ mgr | 0.01 — — 0.001 A7 — — 0.001 A3l — — 0.001 Al — — 0.001 A3
8PN fli 7 = & b & W] meL | 0.02 — — 0.002A i — — 0.002Aif — — 0.002A i — — 0.002 i
9% M ® R =  F| mg/L | 0.04 — — 0.004 A7 — — — — — — — — —
107 b4y ROy 7| mg/L | 0.01 — — 0.00 1 A<t — — 0.001 A5 — — 0.001 A7 — — 0.001 A5
11 |6l e fe %8 % % OF 0E RN BB B % K| me/L | 10 — — 0.8 — — — — — — — — —
1217 v # & 0" 2 © bt & | megl | 0.8 — — 0.36 — — 0.32 — — 0.28 — — 0.29
13l v # K 0% © b & W mgL | 1.0 — — 0. LA — — 0. 1ATii — — 0. 1A — — 0. 1A
14 |4 i ik % #| me/L | 0.002 — — 0.0002 A5 — — 0.0002 A5 — — 0.0002 A5 — — 0.0002 A5
154 ¥ 4 % ¥ | mgL | 0.05 — — 0.005 A3 — — 0.005 A3 — — 0.005 A1 — — 0.005A i
6| 2 BT e Jo0a | — — | o004k | — — | 0.0045i | — — | 0.0045ki | — — | 0.0045ki
17l 7 moowm A & | mg/L | 0.02 — — 0.0024 it — — 0.002 A7 — — 0.00244ifs — — 0.002 i
87 r 9 7 m @ = F L > mgr |0.01 — — 0.001 A3 — — 0.001 A i — — 0.001 A i — — 0.001 A3
9 vV 7 B v = F L ¥ mgL |0.01 — — 0.00 1 Aif§ — — 0.00 1A Tifi — — 0.00 1A i — — 0.001 ¥
20 | v v > me/L | 0.01 — — 0.001 A5 — — 0.001 A3 — — 0.001 ¥ — — 0.001 A3
21 |4 ES | me/L | 0.6 — — 0.14 — — 0.21 — — 0.06 — — 0.08
22 |~ = = e k| me/L | 0.02 — — 0.002 A i — — 0.002 A i — — 0.002 AT — — 0.002 A3
2317 = wm & Al mg/L | 0.06 — — 0.018 — — 0.026 — — 0.015 — — 0.011
24 2 9w =m  EF B me/L | 0.03 — — 0.003 A i — — 0.013 — — 0.003 A3 — — 0.003
2651 7 m® Zy mom 2 & o omy | 0.1 — — 0.001 — — 0.001 — — 0.001 ¥ — — 0.001 A
26 | 5 # fig| me/L | 0.01 — — 0.001 A< — — 0.001 A ¥ — — 0.001 A — — 0.001 A
ol b U v v 2 & | mgl | 0.1 — — 0.024 — — 0.034 — — 0.020 — — 0.015
28I U 2 m w  Ef W me/L | 0.03 — — 0.013 — — 0.019 — — 0.014 — — 0.010
29|17 v ® v 7 v w2 % o o 003 — — 0.005 — — 0.007 — — 0.005 — — 0.004
307 w = & A Al mgL |0.09 — — 0.00 1 A< — — 0.001 A — — 0.001 A5 — — 0.001 A5
31f%x » &~ 7 A F B K| mgL |0.08 — — 0.008 A i — — 0.008 A i — — 0.008 A i — — 0.008 A i
320 /4 & O = © b & W mgL | 1.0 — — 0.05 A — — 0.05Aifi — — 0.05Aif — — 0.05A1ifi
BT AI= LK ED AW myL | 0.2 — — 0.02 A5 — — 0.02Aif5 — — 0.02Aif5 — — 0.02Aif5
Ml kY = o b A& | meL | 0.3 — — 0.06 — — 0.03 A7 — — 0.03 A — — 0.03 A1l
3B &k = o kb A W meL | 1.0 — — 0.05 A3 — — 0.05Aif — — 0.05A1if — — 0.05A1if
36|77 MU T AR OE DA | meL | 200 — — 10 — — 11 — — 10 — — 10
M|~ v kRO % 0k & W me/l | 0.05 — — 0.005Aif — — 0.005A i — — 0.005 A i — — 0.005 i
38l b A4 A& | mgL | 200 11 11 11 11 12 13 12 11 11 11 11 11
39wy a, v 7 kv s (EE)| me/L | 300 — — 18 — — — — — — — — —
40 |7 s % 4 | me/L | 500 — — 75 — — — — — — — — —
41k 4 = > 5 om & M H| me/L | 0.2 — — 0.02A i — — — — — — — — —
42 | = % A 2 | mg/L | o.00001 — 0.000001 7 | 0.000001 i | 0.000001 i | 0.00000 1 AHifi | 0.00000 1 AFifi | 0.00000 1 At — — — — —
4312 — AF v A4V KR )V 3 A — | mg/L | 0.00001 — 0.000001 3 | 0.000001 i | 0.000001 ik | 0.00000 1 AHifi | 0.00000 1 AFifi | 0.00000 1 At — — — — —
443 4 A v B om & M Al me/l | 0.02 — — 0.002 A i — — 0.002 i — — 0.002 A3 — — 0.002 A3
457 B J — v | me/L | 0.005 — — 0.0005 it — — — — — — — — —
46|14 # ® ( TOC © & )| mg/L | 3 1.3 1.1 1.2 1.3 1.4 1.4 1.3 1.4 1.4 1.4 1.4 1.3
47 | H i IR I 7.0 7.1 7.2 6.9 7.2 7.3 7.2 7.2 7.2 7.2 7.2
48 k Ao BwseL | BERL | BEL | BEZRL | BEeL | BERL | BERL | BERL | BEeL | BEkl | BEaL | BEl
49 |2 & PO BEeL | BEZRL | BERL | BERL | BERL | BERL | BEeL | BEeL | BEaL | BEkl | BEaL | BEll
50 |2 B 5 1 1 At 1 At 1 At 1 At 1 At 1 At BT 1 At 1 At 1 At 1 At
51 | BE|OBE 2 0.1K% | 0.1 | O.LRW | O.1A4m | O.LRW | 0.1 | 0.1 | O.1AK%Mm | O.1AKW | 01K | O0.1KW | 0.1K

7% = i #| me/L |o01mk 0.3 0.2 0.2 0.4 0.2 0.3 0.2 0.3 0.3 0.2 0.4 0.4
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ﬁ H H 4 g 7|k u@ 4H11H | 5H16H |6H11H | 7TH11H | 8H1H | 9H10H |10A10H |11H14H |12H10H | 1H16H | 2H13H | 3H11H
1] i el Lt | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 | B BISH e a3 | Bts | RSN RIS [RIESAT [ RIHSh P | BIHSH P | Bbsn 3 | REEn+ [ Rilshd [ Risn [ riish
3 RIY Ak OZE O G Y me/l | 0.003 — — 0.0003 i — — 0.0003 A i — — 0.0003 AT — — 0.0003 A7
4Pk 8 & O £ o b & | mg/L | 0.0005 — — 0.00005 it — — — — — — — — —
5l v v k2 ot a& | meL |0.01 — — 0.001 A — — 0.001 A3 — — 0.001 A — — 0.001 A
6l85h & O = o fb & #| me/L | 0.01 — — 0.001 A3 — — 0.002 — — 0.001 A — — 0.001 A
Tl F K O 2 o b & ¥ mgr | 0.01 — — 0.001 A7 — — 0.001 A3l — — 0.001 Al — — 0.001 A3
8PN fli 7 = & b & W] meL | 0.02 — — 0.002A i — — 0.002Aif — — 0.002A i — — 0.002 i
9% M ® R =  F| mg/L | 0.04 — — 0.004 A7 — — — — — — — — —
107 b4y ROy 7| mg/L | 0.01 — — 0.00 1 A<t — — 0.001 A5 — — 0.001 A7 — — 0.001 A5
11 |6l e fe %8 % % OF 0E RN BB B % K| me/L | 10 — — 0.4 — — — — — — — — —
1217 v # & 0" 2 © bt & | megl | 0.8 — — 0.42 — — 0.41 — — 0.39 — — 0.38
13l v # K 0% © b & W mgL | 1.0 — — 0. LA — — 0. 1ATii — — 0. 1A — — 0. 1A
14 |y i ik % #| me/L | 0.002 — — 0.0002 A5 — — 0.0002 A5 — — 0.0002 A5 — — 0.0002 A5
154 ¥ 4 % ¥ | mgL | 0.05 — — 0.005 A3 — — 0.005 A3 — — 0.005 A1 — — 0.005A i
6| 2 BT e Jo0a | — — | o004k | — — | 0.0045i | — — | 0.0045ki | — — | 0.0045ki
17l 7 moowm A & | mg/L | 0.02 — — 0.0024 it — — 0.002 A7 — — 0.00244ifs — — 0.002 i
87 r 9 7 m @ = F L > mgr |0.01 — — 0.001 A3 — — 0.001 A i — — 0.001 A i — — 0.001 A3
9 vV 7 B v = F L ¥ mgL |0.01 — — 0.00 1 Aif§ — — 0.00 1A Tifi — — 0.00 1A i — — 0.001 ¥
20 | v v > me/L | 0.01 — — 0.001 A5 — — 0.001 A3 — — 0.001 ¥ — — 0.001 A3
21 |4 ES el me/L | 0.6 — = 0.08 - — 0.06 — — 0.06 A7 — — 0.06 A1
22 |~ = = e k| me/L | 0.02 — — 0.002 A i — — 0.002 A i — — 0.002 AT — — 0.002 A3
2317 = wm & Al mg/L | 0.06 — — 0.009 — — 0.007 — — 0.004 — — 0.003
24l 2 2w wmw  EE  WE| me/ | 0.03 — — 0.003 — — 0.003 — — 0.003 it — — 0.003 ik
%l 7 v ® s m e A& o omyl | 0.1 — — 0.001 — — 0.003 — — 0.003 — — 0.002
26 | 5 # fig| me/L | 0.01 — — 0.001 A< — — 0.001 A ¥ — — 0.001 A — — 0.001 A
ol b U v v 2 & | mgl | 0.1 — — 0.014 — — 0.016 — — 0.011 — — 0.007
28I U 2 m w  Ef W me/L | 0.03 — — 0.007 — — 0.004 — — 0.004 — — 0.003 A7
29|17 v ® v 7 v w2 % o o 003 — — 0.004 — — 0.006 — — 0.004 — — 0.002
307 w = & A Al mgL |0.09 — — 0.00 1 A< — — 0.001 A — — 0.001 A5 — — 0.001 A5
31f%x » &~ 7 A F B K| mgL |0.08 — — 0.008 A i — — 0.008 A i — — 0.008 A i — — 0.008 A i
320 /4 & O = © b & W mgL | 1.0 — — 0.05 A — — 0.05Aifi — — 0.05Aif — — 0.05A1ifi
BT AI=T AR BZEOA W meL | 0.2 — — 0.10 — — 0.05 — — 0.05 — — 0.04
Ml kY = o b A& | meL | 0.3 — — 0.03 — — 0.03 A7 — — 0.03 A — — 0.03 A1l
3B &k = o kb A W meL | 1.0 — — 0.05 A3 — — 0.05Aif — — 0.05A1if — — 0.05A1if
36|77 MU T AR OE DA | meL | 200 — — 11 — — 13 — — 12 — — 14
M|~ v kRO % 0k & W me/l | 0.05 — — 0.005Aif — — 0.005A i — — 0.005 A i — — 0.005 i
sl b w4 A | mgL | 200 10 11 11 11 10 12 11 14 11 13 12 14
39wy a, v 7 kv s (EE)| me/L | 300 — — 17 — — — — — — — — —
40 |7% % 7% & | me/l | 500 — — 7 — — 91 — — 97 — — 89
41k 4 = > 5 om & M H| me/L | 0.2 — — 0.02A i — — — — — — — — —
42 | ES %+ A 2 >| mg/L | o.00001 — — 0.000001 A3 — — — — — — — — —
4312 — A F v A4V KR )V R A4 — | mg/L | 0.00001 — — 0.000001 A7 — — — — — — — — —
443 4 A v B om & M Al me/l | 0.02 — — 0.002 A i — — 0.002 i — — 0.002 A3 — — 0.002 A3
457 B J — v | me/L | 0.005 — — 0.0005 it — — — — — — — — —
46|14 # ® ( TOC © & )| mg/L | 3 1.3 0.9 1.0 1.3 1.0 0.8 0.9 0.8 0.8 0.8 0.7 0.7
47 | H i e 69 6.7 6.7 7.0 6.7 6.6 6.5 6.5 6.6 6.6 6.6 6.2
48 S Ao BwseL | BERL | BEL | BEZRL | BEeL | BERL | BERL | BERL | BEeL | BEkl | BEaL | BEl
49 | & £ PO BEeL | BEZRL | BERL | BERL | BERL | BERL | BEeL | BEeL | BEaL | BEkl | BEaL | BEll
50 |2 B 5 2 1 1 1 At 1 At 1 At 1 BT 1 At 1 At 1 At 1At
51 | El E 2 0.3 0.2 0.2 0. LA 0.1 0.1 0.2 0.0 | O.1Am | O.LK%E | O.1AK%m | 0.1AK%
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ﬁ H H 4 g 7|k u@ 4H11H | 5H16H |6H11H | 7TH11H | 8H1H | 9H10H |10A10H |11H14H |12H10H | 1H16H | 2H13H | 3H11H
1] i el Lt | 100 0 0 0 0 0 0 0 0 0 0 0 0
2 | B BISH e a3 | Bts | RSN RIS [RIESAT [ RIHSh P | BIHSH P | Bbsn 3 | REEn+ [ Rilshd [ Risn [ riish
3 RIY Ak OZE O G Y me/l | 0.003 — — 0.0003 i — — 0.0003 A i — — 0.0003 AT — — 0.0003 A7
4Pk 8 & O £ o b & | mg/L | 0.0005 — — 0.00005 it — — — — — — — — —
5l v v k2 ot a& | meL |0.01 — — 0.001 A — — 0.001 A3 — — 0.001 A — — 0.001 A
6l85h & O = o fb & #| me/L | 0.01 — — 0.001 A7 — — 0.001 A3 — — 0.001 i — — 0.001 A
Tl F K O 2 o b & ¥ mgr | 0.01 — — 0.001 A7 — — 0.001 A3l — — 0.001 Al — — 0.001 A3
8PN fli 7 = & b & W] meL | 0.02 — — 0.002A i — — 0.002Aif — — 0.002A i — — 0.002 i
9% M ® R =  F| mg/L | 0.04 — — 0.004 A7 — — — — — — — — —
107 b4y ROy 7| mg/L | 0.01 — — 0.00 1 A<t — — 0.001 A5 — — 0.001 A7 — — 0.001 A5
11 |6l e fe %8 % % OF 0E RN BB B % K| me/L | 10 — — 2.9 — — 2.7 — — 2.5 — — 2.7
1217 v # & 0" 2 © bt & | megl | 0.8 — — 0.40 — — 0.36 — — 0.39 — — 0.36
13l v # K 0% © b & W mgL | 1.0 — — 0. LA — — 0. 1ATii — — 0. 1A — — 0. 1A
14 |y i ik % #| me/L | 0.002 — — 0.0002 A5 — — 0.0002 A5 — — 0.0002 A5 — — 0.0002 A5
154 ¥ 4 % ¥ | mgL | 0.05 — — 0.005 A3 — — 0.005 A3 — — 0.005 A1 — — 0.005A i
6| 2 BT e Jo0a | — — | o004k | — — | 0.0045i | — — | 0.0045ki | — — | 0.0045ki
17l 7 moowm A & | mg/L | 0.02 — — 0.0024 it — — 0.002 A7 — — 0.00244ifs — — 0.002 i
87 r 9 7 m @ = F L > mgr |0.01 — — 0.001 A3 — — 0.001 A i — — 0.001 A i — — 0.001 A3
9 vV 7 B v = F L ¥ mgL |0.01 — — 0.00 1 Aif§ — — 0.00 1A Tifi — — 0.00 1A i — — 0.001 ¥
20 | v v > me/L | 0.01 — — 0.001 A5 — — 0.001 A3 — — 0.001 ¥ — — 0.001 A3
21 |4 ES el me/L | 0.6 — = 0.06 — — 0.06 A7 — — 0.06Aif — — 0.06 A1
22 |~ = = e k| me/L | 0.02 — — 0.002 A i — — 0.002 A i — — 0.002 AT — — 0.002 A3
2317 = wm & Al mg/L | 0.06 — — 0.001 — — 0.002 — — 0.00 1 Aif§ — — 0.001
24 2 9w =m  EF B me/L | 0.03 — — 0.003 A i — — 0.003 AT — — 0.003 A3 — — 0.003 A3
%l 7 v ® s m e A& o omyl | 0.1 — — 0.002 — — 0.003 — — 0.002 — — 0.002
26 | 5 # fig| me/L | 0.01 — — 0.001 A< — — 0.001 A ¥ — — 0.001 A — — 0.001 A
ol b U v v 2 & | mgl | 0.1 — — 0.005 — — 0.007 — — 0.003 — — 0.004
28I U 7 wm w FE B me/L | 0.03 — — 0.003 i — — 0.003 A — — 0.003 i — — 0.003 i
29|17 v ® v 7 v w2 % o o 003 — — 0.002 — — 0.002 — — 0.001 — — 0.001
307 w = & A Al mgL |0.09 — — 0.00 1 A< — — 0.001 A — — 0.001 A5 — — 0.001 A5
31f%x » &~ 7 A F B K| mgL |0.08 — — 0.008 A i — — 0.008 A i — — 0.008 A i — — 0.008 A i
320 /4 & O = © b & W mgL | 1.0 — — 0.05 A — — 0.05Aifi — — 0.05Aif — — 0.05A1ifi
BT AI= LK ED AW myL | 0.2 — — 0.02 — — 0.02A i3 — — 0.02 — — 0.02Aif5
Ml kY = o b A& | meL | 0.3 — — 0.03 A — — 0.03 A — — 0.03 A — — 0.03 A1l
3B &k = o kb A W meL | 1.0 — — 0.05 A3 — — 0.05Aif — — 0.05A1if — — 0.05A1if
36|77 MU T AR OE DA | meL | 200 — — 14 — — 12 — — 12 — — 13
M|~ v kRO % 0k & W me/l | 0.05 — — 0.005Aif — — 0.005A i — — 0.005 A i — — 0.005 i
sl b w4 A | mgL | 200 9 9 9 8 8 9 9 9 8 8 9 9
39wy a, v 7 kv s (EE)| me/L | 300 — — 49 — — — — — — — — —
40 |7% % 7% & | me/l | 500 — — 150 — — 150 — — 140 — — 130
41k 4 = > 5 om & M H| me/L | 0.2 — — 0.02A i — — — — — — — — —
42 | ES %+ A 2 >| mg/L | o.00001 — — 0.000001 A3 — — — — — — — — —
4312 — A F v A4V KR )V R A4 — | mg/L | 0.00001 — — 0.000001 A7 — — — — — — — — —
443 4 A v B om & M Al me/l | 0.02 — — 0.002 A i — — 0.002 i — — 0.002 A3 — — 0.002 A3
457 B J — v | me/L | 0.005 — — 0.0005 it — — — — — — — — —
46|14 # ® ( TOC © & )| mg/L | 3 0.7 0.6 0.7 1.1 0.9 0.6 0.6 0.7 0.5 0.5 0.5 0.5
47 | H i IR 6.5 6.6 6.6 6.6 6.5 6.5 6.8 6.6 6.7 6.6 6.7
48 S Ao BwseL | BERL | BEL | BEZRL | BEeL | BERL | BERL | BERL | BEeL | BEkl | BEaL | BEl
49 | & £ PO BEeL | BEZRL | BERL | BERL | BERL | BERL | BEeL | BEeL | BEaL | BEkl | BEaL | BEll
50 |2 B 5 IEST 1 At 1 At 1 1 1 At 1 At BT 1 At 1 At 1 At 1At
51 | BE|OBE 2 0.1A0 | O.1AMmM | 0.1AI 0.2 0.2 0.1A%G | O.1AMmM | O.LKRW | 0.1KW | O.1AKW | 0K | 0.1Kim

7% & i #| me/L |o01mk 0.2 0.2 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2
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F7l = H Za H i 6H25H
Il — i il Im]* 110
21 X iV fa
3|l PRI AR OZE O EW | ng/lL 0.0003 At
4k ] K O 2 o (b A ¥ | mg/L 0.00005 A
5l v v kO E O A W | me/L 0.001 A
6l &% X » = o kb A& W | mg/L 0.001 A
e % kK W o {t A | meg/L 0.001 A
sl m 2 wvw =~ 4 & @ mg/lL 0.002Ai
9 | il 73 fie % #| mg/L 0.004 i
0 7w A4 v k& X L> 7 | mg/L 0.00 1 AT
11 |y me 8 %= %& R OB R B RE £ #| me/L 0.7
1217 v # k& 0 * o & A& ¥l mg/L 0.36
Blx v % k& ® 2 o & & 9 mg/L 0. LA
14 |y i 1t. 17 #| mg/L 0.000274i
15 |1,4- > 7 =S A >| mg/L 0.005 ¥
NESAr S A 0,001k
17 |» 7 = = 2 5 >| mg/L 0.00277it
B8l 3 v v o2 = F L  mgl 0.001 i
9k v nom T F L v mg/L 0.001 A3
20 | v v > mg/L 0.001 A
21 | # M2l mg/L —
22 |7 = e 2| mg/L —
23 |~ = = R J Al mg/L —
24 |2 7 = = i W mg/L —
25l 7 v ® 7 v oo X X | mg/L —
26 | = ES M2l mg/L —
27 I¥& }‘ ) N = A i >| mg/L —
28 |k ) 7 = = i il mg/L —
2917 v ® v 7 v v X X Y| mg/L —
30 |7 = £ N JL L mg/L —
3 N x5 7T o Tk Rl mg/L —
2f|m ¢ Kk O o bt A& W meg/L 0.05 A i
3Bl v =7 Ak B E O A W mg/L 0.13
Mql: k= o b A& | meg/L 0.13
B k= o A | mg/L 0.05Aii
36l FU T oA kR W ZE DO A W mg/L 8
37Tl ~» W v k O 2 o & & ¥ mg/L 0.037
38 |4 e 37| A v > mg/L 5
9 vy a, v~ 7 xvw a% (@ E)| mg/L 16
40 |7% S % & )| mg/L 67
41l 4 4 v R oom & M A meg/L 0.02 A5
42 | - 7 2 3 | mg/L 0.000002
4312 — A F L 4 YV K L x4 — | mg/L 0.000001 it
441 4 A v R om Fm M Al me/L 0.002 A3
45 |7 = J — v $ mg/L 0.0005 A5
461 ¥ ®» ( TOC © & )| mg/L 3.7
47 Ip H i 7.3
48 S —
49 |5 & B
50 | gl E 11
51 | gl E 4.9
64 25H ] /
R E YR W] ] 7 7
e £ p: 3F i) 100mLH 0
11H26H
7 UV 7k X K U Y U A i

v 7 v v 7

msnd




AT b T AGEIA T IRETT- OK B )
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)
N—r

N6
F7l = H Za H i 6H25H
1| — i il Imlt 31
21 X iV mEn g
3| AR I T A K OEO,E YD | mg/L 0.0003 At
4k ] K O 2 o (b A ¥ | mg/L 0.00005 A
5l v v kO E O A W | me/L 0.001 A
6l &% X » = o kb A& W | mg/L 0.001 A
e % kK W o {t A | meg/L 0.001 A
sl m 2 wvw =~ 4 & @ mg/lL 0.002Ai
9 | il 73 fie % #| mg/L 0.004 i
0 7w A4 v k& X L> 7 | mg/L 0.00 1 AT
11 |y me 8 %= %& R OB R B RE £ #| me/L 0.6
1217 v # k& 0 * o & A& ¥l mg/L 0.58
Blx v % k& ® 2 o & & 9 mg/L 0. LA
14 |y i 1t. 17 #| mg/L 0.000274i
15 |1,4- > 7 =S A >| mg/L 0.005 ¥
NESAr S A 0.0
17 |» 7 = = 2 5 >| mg/L 0.00277it
B8l 3 v v o2 = F L  mgl 0.001 i
9k v nom T F L v mg/L 0.001 A3
20 | v v > mg/L 0.001 A
21 | ES M2l mg/L —
22 17 = iz fiz| mg/L —
23 |~ = = R J Al mg/L —
24 |2 7 = = i W mg/L —
25l 7 v ® 7 v oo X X | mg/L —
26 | = ES M2l mg/L —
27 I¥& }‘ ) N = A i >| mg/L —
28 |k ) 4 = = i il mg/L —
2917 v ® v 7 w=wm v A & V| mg/L —
30 |7 = £ 7 L Al mg/L —
3 N x5 7T o Tk Rl mg/L —
2f|m ¢ Kk O o bt A& W meg/L 0.05 A i
3Bl v =7 Ak B E O A W mg/L 0.14
Mql: k= o b A& | meg/L 0.06
B k= o A | mg/L 0.05Aii
36l FU T oA kR W ZE DO A W mg/L 8
37l v v kR B O b & | mg/L 0.005A4 i
38 |4 e 37| A v > mg/L 5
9 vy a, v~ 7 xvw a% (@ E)| mg/L 17
40 |7% S % & )| mg/L 50
41l 4 4 v R oom & M A meg/L 0.02 A5
42 |© = 7+ 2 3 | mg/L 0.000001 A3
4312 — A F L 4 YV K L x4 — | mg/L 0.000001 it
41 4 A& v R om W& M A mg/lL 0.002Aif
45 |7 = J — v $ mg/L 0.0005 A5
461 ¥ ®» ( TOC © & )| mg/L 0.9
47 Ip H i 6.8
48 S —
49 | = &= LR
50 | gl E 3
51 | gl E 0.7
6 H 25 H 1 ]
N ( 5 = moA ) s
e £ p: 3F i) 100mLH 0

7 U 7 b 2 R U Y U A

% 7 % D4 7




AT b T AGEIA T IRETT- OK B )

JRK R 2R (B TR K S R e — B TV K )

N6
F7l = H Za H i TH23H
1l — fit il 1mlf 1
21 X iV mEn g
3| AR I T A K OEO,E YD | mg/L 0.0003 At
4k ] K O 2 o (b A ¥ | mg/L 0.00005 A
5l v v kO E O A W | me/L 0.001 A
6l &% X » = o kb A& W | mg/L 0.001 A
e % kK W o {t A | meg/L 0.001 A
sl m 2 wvw =~ 4 & @ mg/lL 0.002Ai
9 | il 73 fie % #| mg/L 0.004 i
0 7w A4 v k& X L> 7 | mg/L 0.00 1 AT
11 |y me 8 %= %& R OB R B RE £ #| me/L 0. 1475
1217 v # k& 0 * o & A& ¥l mg/L 0.43
Blx v % k& ® 2 o & & 9 mg/L 0. LA
14 |y i 1t. 17 #| mg/L 0.000274i
15 |1,4 2 7 =3 v >| mg/L 0.00571it
NESAr S A 0.0
17 |» 7 = = A v >| mg/L 0.00277it
B8l 3 v v o2 = F L  mgl 0.001 i
9k v nom T F L v mg/L 0.001 A3
20 | v v > mg/L 0.001 A
21 | # M2l mg/L —
22 |7 = e 2| mg/L —
23 1V o = AN % 2l mg/L —
24 |2 7 = = i W mg/L —
25l 7 v ® 7 v oo X X | mg/L —
26 | = ES 2| mg/L —
27l v o~ m o x x| mg/L —
28 |k ) 7 = = i il mg/L —
2917 v = ¥ 7 v v A % | mg/L —
30 |7 = £ N JL L mg/L —
3 N x5 7T o Tk Rl mg/L —
2f|m ¢ Kk O o bt A& W meg/L 0.05 A i
3Bl v =7 Ak B E O A W mg/L 0.06
Ml K o = o b A | me/L 0.03Aifi
B k= o A | mg/L 0.05Aii
36l FU T oA kR W ZE DO A W mg/L 10
37l v 7 v kB O % o k& W mg/L 0.006
38 |t ik ¥ A 7+ >| mg/L 6
9 vy a, v~ 7 xvw a% (@ E)| mg/L 23
40 |7% S % & )| mg/L 70
41l 4 4 v R oom & M A meg/L 0.02 A5
42 |© = 7+ 2 3 | mg/L 0.000001 A3
4312 — A F A~ 4 VY A A % F — | mg/L 0.000001 it
441 4 A v R om Fm M Al me/L 0.002 A3
45 |7 = J — v $ mg/L 0.0005 i
461 ¥ ®» ( TOC © & )| mg/L 0.8
47 Ip H i 6.4
48 S —
49 | = £ LN VNP
50 | gl E 1
51 | gl E 0.3
TH23H 9H10H 12H10H 3HI11H
N ( 5 = moA ) B s Bt d Mt Mg
e = M I i 100mLH 0 0 0 0
AR R -

% 7 % D4 7




AT b T AGEIA T IRETT- OK B )

JR KRR A (F

SO KGR — H A IKS)

N6
F7l = H Za H i 6H25H
1l — fit il 1mlf 6
2| K iV mEn g
S| PRI A K 2% 0 & % | mg/L 0.0003 A
4k ] K O 2 o (b A ¥ | mg/L 0.00005 A
5l v v kO E O A W | me/L 0.001 A
6l &% X » = o kb A& W | mg/L 0.001 A
e % kK W o {t A | meg/L 0.001 A
sl m 2 wvw =~ 4 & @ mg/lL 0.002Ai
9 |# i i i £ #| mg/L 0.004A3i
Wl 7 vt 44 > K V# 1>¥ 7 >» mg/L 0.001 i
11 |y me 8 %= %& R OB R B RE £ #| me/L 1.9
1217 v # k& 0 * o & A& ¥l mg/L 0.38
1Bl v £ kK O % o {t & ¥ mg/L 0. 1A
14 |y i 1t. 17 #| mg/L 0.000274i
15 |1,4 2 7 =3 v >| mg/L 0.00571it
NESAr S A 0,001k
17 |» 7 = = 2 5 >| mg/L 0.00277it
sl 5 7 v v = F L o mgl 0.001 i
9k v nom T F L v mg/L 0.001 A3
20 | v ¥ > mg/L 0.001 A
21 | # M2l mg/L —
22 |7 = e 2| mg/L —
23 |7 =i = N IV L mg/L —
24 | 7 = = W il mg/L —
25l 7 v ® 7 v oo X X | mg/L —
26 | = ES M2l mg/L —
27 | k J N = A v > mg/L —
28 |k ) 4 = = i il mg/L —
2917 v ® v 7 v v X X Y| mg/L —
30 |7 = £ N JL L mg/L —
3 N x5 7T o Tk Nl mg/L —
2f|m ¢ Kk O o bt A& W meg/L 0.05 A i
W7 v = A kO E O A W mg/L 0.03
Mql: k= o b A& | meg/L 0.04
Bl . . o A | me/L 0.05A75
36l FU T oA kR W ZE DO A W mg/L 11
3l v v kB O o b A W mg/L 0.005 A3
38 |4 e 37| A v > mg/L 6
9 vy a, v~ 7 xvw a% (@ E)| mg/L 37
40 |7 FE % 5 | mg/L 110
41l 4 4 v R oom & M A meg/L 0.02 A5
42 |© = 7+ 2 3 | mg/L 0.000001 A3
4312 — A F L 4 YV K L x4 — | mg/L 0.000001 it
41 4 A& v R om W& M A mg/lL 0.002Aif
45 |7 ES J — Jb ¥ me/L 0.0005Ait
wlHE #  ( TOC ©  # )| meg/L 0.5
47 Ip H i 6.6
48 S —
49 | = &= LR
50 |t L E 1At
51 | gl E 0.5
6H25H 9H10H 12H10H 3HI11H
N ( 5 = moA ) B s Bt d Mt Mg
e = M IF i 100mLH 0 0 0 0
R EEER -

v 7 v v 7




